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ASPIER15
タイプライターテキスト

ASPIER15
タイプライターテキスト
√(0.27)=1/10√(27)=3/10√(3)→k=3/10
100k=100x(3/10)=30


ASPIER15
タイプライターテキスト

ASPIER15
タイプライターテキスト

ASPIER15
タイプライターテキスト
3.16...

ASPIER15
タイプライターテキスト

ASPIER15
タイプライターテキスト

ASPIER15
タイプライターテキスト
7.07...

ASPIER15
タイプライターテキスト
4,5,6,7→4 จำนวน

ASPIER15
タイプライターテキスト

ASPIER15
タイプライターテキスト

ASPIER15
タイプライターテキスト

ASPIER15
タイプライターテキスト
2πr=4√(5)π→r=2√(5)
V=π{2√(5)}^2・{4√(3)}
V=80√(3)π


ASPIER15
楕円

ASPIER15
タイプライターテキスト
6+6
5+1
4+2
3+3
2+4
1+5
6/36=1/6

ASPIER15
楕円

ASPIER15
タイプライターテキスト
4x4-√(3)x√(3)=13→
√(13)


ASPIER15
楕円
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ASPIER15
タイプライターテキスト
P(5,2)=5x4=20 แบบ

ASPIER15
タイプライターテキスト
long hand moves 6°/minute
short hand moves 0.5°/minute
6X-0.5X=90
11X=180
X=180/11=16+4/11

ASPIER15
楕円

ASPIER15
タイプライターテキスト
red 4 white 3

ASPIER15
タイプライターテキスト
blue 3 white 2

ASPIER15
楕円

ASPIER15
タイプライターテキスト
(3/7)x(2/5)=6/35

ASPIER15
タイプライターテキスト
3x40=5x□→□=120/5=24 ลูกบาศก์เซนติเมตร


ASPIER15
楕円

ASPIER15
タイプライターテキスト
a

ASPIER15
タイプライターテキスト
b

ASPIER15
タイプライターテキスト
c

ASPIER15
タイプライターテキスト
d

ASPIER15
タイプライターテキスト
ant starts from point a to be back to point a
abca,acba,acda,adca,abda,adba 6 patterns
all of the patterns of walk from point a (3 travels)
3x3x3=27→6/27=2/9 (possibility)

ASPIER15
タイプライターテキスト
400g

ASPIER15
タイプライターテキスト
100g

ASPIER15
タイプライターテキスト
12

ASPIER15
タイプライターテキスト
240

ASPIER15
タイプライターテキスト
รวม

ASPIER15
タイプライターテキスト
24

ASPIER15
タイプライターテキスト
400

ASPIER15
タイプライターテキスト
400+100=500g
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ASPIER15
タイプライターテキスト
3

ASPIER15
タイプライターテキスト
5

ASPIER15
タイプライターテキスト
(5/8)x24=15 cm

ASPIER15
楕円

ASPIER15
タイプライターテキスト
(1/3)x6x6xπx18=9x9xπxh
h={(1/3)x6x6x18}/81=2x2x2/3=8/3=2+2/3

ASPIER15
線

ASPIER15
線

ASPIER15
線

ASPIER15
タイプライターテキスト
180

ASPIER15
線

ASPIER15
タイプライターテキスト
90

ASPIER15
タイプライターテキスト
180x(√(3)/2)+60=180x(1.73/2)+60=215.7cm→216cm

ASPIER15
楕円

ASPIER15
画像

ASPIER15
線

ASPIER15
長方形

ASPIER15
線

ASPIER15
長方形

ASPIER15
線

ASPIER15
タイプライターテキスト
200/(3+5)=25 seconds
20x25=500m

ASPIER15
タイプライターテキスト
อนุภาค particle

ASPIER15
タイプライターテキスト
A+B=500→B=500-A ...(1)
1.15A+0.9B=520 ...(2)
1.15A+0.9(500-A)=520
0.25A=520-450→A=70/0.25=280
1.15A=1.15x280=322 คู่
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ASPIER15
タイプライターテキスト
V=10x10xπx10-1x1xπx10=990π
h=990π/(10x10xπ)=990/100=9.9cm=99mm

ASPIER15
タイプライターテキスト
1

ASPIER15
タイプライターテキスト
2

ASPIER15
タイプライターテキスト
3

ASPIER15
タイプライターテキスト
4

ASPIER15
タイプライターテキスト
5

ASPIER15
タイプライターテキスト
6

ASPIER15
タイプライターテキスト
7

ASPIER15
タイプライターテキスト
8

ASPIER15
タイプライターテキスト
A126B
A12658B
A12654378B
A1458B
A14378B
A1437854126B
A378B
A37854126B
A3458B
A34126B
→10 เส้นทาง

ASPIER15
楕円

ASPIER15
タイプライターテキスト
possibility (A,B,C) 2x2x2=8ways
(8,7,6)→A win
(8,7,5)→A win
(8,4,6)→A win
(8,4,5)→A win
(3,7,6)→B win
(3,7,5)→B win
(3,4,6)→C win
(3,4,5)→C win


ASPIER15
タイプライターテキスト
4

ASPIER15
タイプライターテキスト
(8/9)x(3/4)=6/9=2/3→3/2

ASPIER15
タイプライターテキスト
3

ASPIER15
タイプライターテキスト
2/3

ASPIER15
タイプライターテキスト
3/2

ASPIER15
楕円

ASPIER15
線
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ASPIER15
タイプライターテキスト
(4/3)π(3^3)x5=5x5xπxh
h={(4/3)x(27)}/5=36/5
30-36/5=114/5=22+4/5

ASPIER15
楕円

ASPIER15
タイプライターテキスト
2

ASPIER15
タイプライターテキスト
4

ASPIER15
タイプライターテキスト
3

ASPIER15
タイプライターテキスト
1

ASPIER15
タイプライターテキスト
5

ASPIER15
タイプライターテキスト
ที่มีหน้าประกบกับหน้า face to face


ASPIER15
タイプライターテキスト
3+5+1+2+4=15 ลูก

ASPIER15
楕円

ASPIER15
タイプライターテキスト
C=D (same weight)

ASPIER15
タイプライターテキスト
E=F

ASPIER15
線

ASPIER15
タイプライターテキスト
B>C

ASPIER15
タイプライターテキスト
A=C=D=E=F (same weight)
B>A=C=D=E=F

ASPIER15
タイプライターテキスト
if white area is axa=a^2
5 ด้าน→a+2,a+4,a+6,a+8,a+10
(a+10)x(a+10)-a^2=700
20a=600→a=30
(a+2)x(a+2)=32x32→32x4-4=124
(a+4)x(a+4)=34x34→34x4-4=132
(a+6)x(a+6)=36x36→36x4-4=140
(a+8)x(a+8)=38x38→38x4-4=148
(a+10)x(a+10)=40x40→40x4-4=156
124+132+140+148+156=700 ok
40+32=72 แผ่น

ASPIER15
タイプライターテキスト
axa

ASPIER15
画像

ASPIER15
長方形

ASPIER15
長方形

ASPIER15
長方形

ASPIER15
長方形

ASPIER15
長方形

ASPIER15
線

ASPIER15
折れ線

ASPIER15
タイプライターテキスト
if boy's walking speed is v m/sec
up→ L/(v+e)=20→L=20(v+e)
down→ L/(v-e)=60→L=60(v-e)
20(v+e)=60(v-e)
20v+20e-60v+60e=0
80e=40v
e:v=40:80=1:2→v=2e
up→ L/(v+e)=20→L/3e=20
if boy doesn't walk
L/e=20x(3/1)=60 seconds


ASPIER15
タイプライターテキスト
L

ASPIER15
タイプライターテキスト
elevator speed
e m/sec
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ASPIER15
タイプライターテキスト

ASPIER15
タイプライターテキスト
1

ASPIER15
タイプライターテキスト
2

ASPIER15
タイプライターテキスト
4

ASPIER15
タイプライターテキスト
5

ASPIER15
タイプライターテキスト
3

ASPIER15
タイプライターテキスト

ASPIER15
タイプライターテキスト
6

ASPIER15
タイプライターテキスト
(1-1-1)x(1-2-6)(1-3-5)(1-4-4)(1-5-3)(1-6-2)
x(2-1-6)(2-2-5)(2-3-4)(2-4-3)(2-5-2)(2-6-1)
x(3-1-5)x(3-2-4)x(3-3-3)x(3-4-2)x(3-5-1)x(3-6-6)
(4-1-4)(4-2-3)(4-3-2)(4-4-1)x(4-5-6)(4-6-5)
(5-1-3)(5-2-2)(5-3-1)x(5-4-6)(5-5-5)(5-6-4)
(6-1-2)(6-2-1)x(6-3-6)(6-4-5)(6-5-4)(6-6-3)
25จำนวน

ASPIER15
タイプライターテキスト
{(7.35x10^22)/(3.84x10^5)^3}÷{(2x10^30)/(1.5x10^8)^3}=2.190
→2 เท่า
潮汐力 tidal power พลังคลื่น
Ft=(2GMmr)/(R^3)
G→万有引力乗数
M→潮汐力を及ぼす惑星Aの質量
ｍ→潮汐力を受ける惑星Bの質量
r→惑星Bの大きさ（半径）
R→AB間の距離


ASPIER15
タイプライターテキスト
10X

ASPIER15
タイプライターテキスト
X^2

ASPIER15
タイプライターテキスト
rate for husband chase wife

ASPIER15
タイプライターテキスト
10 m/minute

ASPIER15
タイプライターテキスト
2m/minute

ASPIER15
タイプライターテキスト
wife

ASPIER15
タイプライターテキスト
husband

ASPIER15
タイプライターテキスト
10 minutes earlier than wife


ASPIER15
タイプライターテキスト
start point to A→ 10m/secx36min=360m
husband waling speed
360/30=12m/minute

ASPIER15
タイプライターテキスト
wife walking speed

ASPIER15
タイプライターテキスト
10m/minute

ASPIER15
タイプライターテキスト
12m/minute

ASPIER15
タイプライターテキスト
(X^2/10)-(10X/12)=10
12X^2-100X-1200=0
3X^2-25X-300=0
(X–15)(3X+20)=0→X=15m→X=15หน่วย

ASPIER15
タイプライターテキスト
คิดเหนื่อยเป็น m




